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o00obOobooo30b0obooooooboobooOoOobOobobDobDOobooobOobOobDOoo
goo

Q=155297 0000
P = 510510n + 155297

2P + 1 = 2(510510n + 155297) + 1 = 10210201 4 310594 + 1 = 10210201 + 310595
0000010210200 20 2003,5,7,11,13,17000000 10000000

310595 =5 x 62119 x 1

oooo
2P + 1 = 5(204204n + 62119)

oboobobooosOob0obUoboOobobo0obO0obDOobOoObOobUobDobDOobObOobOobDOobDoo
goo

Q=155299 0000
P = 510510n + 155299

2P 4+ 1 =2(510510n + 155299) + 1 = 10210201 + 310598 + 1 = 10210207 + 310599

oo000010210200 20 2003,5,7,11,13,17000000 10000000

310599 = 3 x 3 x 34511 x 1

good
2P + 1 = 3(340340n + 103533)

gooooooOo3sooboooooooboU0OoOoU0bOoUDbDOoUobOoUobDbOUDbDOoOobDOoUODoOO
oono
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Q=1553030000
P = 510510n + 155303

2P + 1 = 2(510510n + 155303) + 1 = 10210201 4 310606 + 1 = 10210201 + 310607
0000010210200 20 2003,5,7,11,13,17000000 10000000

310607 =11 x 11 x 17 x 151 x 1

oooo
2P + 1 = 187(5460n + 1661)

go0oooOooowrogooooooooOoobooooOo0ooO0boO0o0oooooDOoUgDoo
goog

Q=1553170000
P = 510510n + 155317

2P + 1 = 2(510510n + 155317) + 1 = 10210201 + 310634 + 1 = 10210201 + 310635
0000010210200 20 2003,5,7,11,13,17000000 10000000

310635 =3 x3x3x3xbx13x5h9x1

oooOo
2P +1 = 195(5236n + 1593)

ooobobOooysooooooooooboobooooobooobobUobobOoooobooo
good

Q=1553210000
P = 510510n + 155321

2P + 1 = 2(510510n + 155321) 4+ 1 = 10210201 + 310642 + 1 = 10210201 + 310643
0000010210200 20 2003,5,7,11,13,17000000 1000000
310643 = 310643 x 1
0000 10210200000000000000
2P + 1 = 510510m + 310643

gbobogobooobooboboobboobbooobuooooboon

Q=1553270000
P = 510510n + 155327

2P 4+ 1 =2(510510n + 155327) + 1 = 1021020n + 310654 + 1 = 1021020n + 310655
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0000010210200 20 2003,5,7,11,13,17000000 10000000

310655 =5 x 62131 x 1

oooo
2P + 1 = 5(204204n + 62131)

o00obOobOO0o0os000b000O000ODbO0ODODbOUOObOO0ODbDODObODObOOODbDObDODbDOn
goo

Q=1553330000
P = 510510n + 155333

2P + 1 = 2(510510n + 155333) 4+ 1 = 10210201 4 310666 + 1 = 10210201 + 310667
0000010210200 20 2003,5,7,11,13,17000000 10000000

310667 =7 x 44381 x 1

oooo
2P + 1 = 7(145860n + 44381)

goooooogvooooOoooOoobOoU0OOoU0bDOU0UDbDOoUoDbDOoUobOOUODOOobDOUODOO
oono

Q=1553390000
P = 510510n + 155339

2P + 1 = 2(510510n + 155339) 4+ 1 = 10210201 + 310678 + 1 = 10210201 + 310679
0000010210200 20 2003,5,7,11,13,17000000 1000000

310679 = 67 x 4637 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 310679

goboobooobooboboobboobboobooobooo

Q=1553410000
P = 510510n + 155341

2P + 1 =2(510510n + 155341) + 1 = 10210201 + 310682 + 1 = 10210201 + 310683

0000010210200 20 2003,5,7,11,13,17000000 10000000

310683 = 3 x 103561 x 1

oooo
2P + 1 = 3(340340n + 103561)
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goo

Q=1553470000
P = 510510n + 155347

2P 4+ 1 =2(510510n + 155347) + 1 = 10210201 + 310694 + 1 = 1021020n + 310695

0000010210200 20 2003,5,7,11,13,17000000 10000000

310695 =3 x5 x 7x 11 x 269 x 1

oooo
2P + 1 = 1155(884n + 269)

0000000011 0000000000000 b000bO0oO0bOOobOU0OoDbDOoOobOoODbOon
googno

Q=1553570000
P = 510510n + 155357

2P 4+ 1 =2(510510n + 155357) + 1 = 1021020n + 310714 + 1 = 1021020n + 310715

0000010210200 20 2003,5,7,11,13,17000000 10000000

310715 =5 x 62143 x 1

oooo
2P + 1 = 5(204204n + 62143)

gooooooOdOs0U0bOO00bOOU0bOO0OO0ODOU0ODOUODOUODOUODOODOUODOO
ooo

Q=1553590000
P = 510510n + 155359

2P + 1 = 2(510510n + 155359) 4+ 1 = 10210201 + 310718 + 1 = 10210201 + 310719
0000010210200 20 2003,5,7,11,13,17000000 10000000

310719 = 3 x 103573 x 1

good
2P + 1 = 3(340340n + 103573)

o0obobooo30bobobooooobobDooDooboboboDobDobooobUobDOobDOoo
goo

Q=1553690000
P = 5105100 + 155369
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2P + 1 =2(510510n + 155369) + 1 = 1021020n + 310738 + 1 = 1021020n + 310739

0000010210200 20 2003,5,7,11,13,17000000 10000000

310739 =11 x 13 x 41 x 53 x 1

oooo
2P 4+ 1 = 143(7140n + 2173)

go0ood0obO0o430goodoo0oo0oopooooo0ooobbo0o0ooooDOoUDoO
goog

Q=1553710000
P = 510510n + 155371

2P + 1 = 2(510510n + 155371) 4+ 1 = 10210201 + 310742 + 1 = 10210201 + 310743
0000010210200 20 2003,5,7,11,13,17000000 10000000

310743 =3 x 3 x I x 17T X 677 x 1

oooo
2P + 1 = 51(20020n + 6093)

O0000O0o0ooslbOboobboob00oobobooo0bO0oo0bo0oboobobDoooDbOooDbOon
good

Q=1553770000
P = 510510n + 155377

2P + 1 = 2(510510n + 155377) 4+ 1 = 10210201 4 310754 + 1 = 10210201 + 310755
0000010210200 20 2003,5,7,11,13,17000000 10000000

310755 =3 x5 x 20717 x 1

oooo
2P + 1 = 15(68068n + 20717)

gooooOooOolboobooOooobOoboobooOooOUooobDOobDOoOoDOobDOoboooboOooog
good

Q=1553810000
P = 510510n + 155381

2P 4+ 1 =2(510510n + 155381) + 1 = 1021020n + 310762 + 1 = 1021020n + 310763

0000010210200 20 2003,5,7,11,13,17000000 1000000

310763 = 37 x 37 x 227 x 1
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0000 102102000000000000000

2P 4+ 1 =510510m + 310763

gbobooobogobooboboobboobboooboooboon

Q=1553830000
P = 510510n + 155383

2P + 1 = 2(510510n + 155383) + 1 = 10210201 4 310766 + 1 = 10210200 + 310767
0000010210200 20 2003,5,7,11,13,17000000 10000000

310767 =3 x 71 x 1459 x 1

oooo
2P + 1 = 3(340340n + 103589)

gooooooOo3oobooooooobo0ooU0bOoUbDOoUobOoUobDbOUDbDOoUobDboUODoO
oono

Q=1553870000
P = 510510n + 155387

2P + 1 = 2(510510n + 155387) + 1 = 10210201 + 310774 + 1 = 10210201 + 310775
0000010210200 20 2003,5,7,11,13,17000000 10000000

310775 =5 x5 x 31 x401 x 1

oooo
2P + 1 = 5(204204n + 62155)

o0obOoboOoos0b0b0bO0ob0U0o0b0obOOobOUobObO0ObUOobOOobDOobO0OOobUobDOobDOoo
goo

Q=1553990000
P = 510510n + 155399

2P + 1 =2(510510n + 155399) + 1 = 1021020n + 310798 + 1 = 1021020n + 310799

0000010210200 20 2003,5,7,11,13,17000000 1000000

310799 = 23 x 13513 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 310799

gboboobogoboobboobboobobooobuoonobaon
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Q=1554010000
P = 510510n + 155401

2P + 1 = 2(510510n + 155401) 4+ 1 = 10210201 + 310802 + 1 = 10210201 + 310803
0000010210200 20 2003,5,7,11,13,17000000 10000000

310803 = 3 x 211 x 491 x 1

oooo
2P + 1 = 3(340340n + 103601)

go0oooooOo3o0boo0oo0ooU0ooU0bOoUDOOo0oDbDOoUbOOUDOoUobDOUDoOO
goo

Q=1554110000
P =510510n + 155411

2P + 1 = 2(510510n + 155411) 4+ 1 = 10210201 + 310822 + 1 = 10210201 + 310823
0000010210200 20 2003,5,7,11,13,17000000 1000000

310823 = 310823 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 310823

gboboobooobooboboobboobboobooobooo

Q=1554130000
P = 510510n + 155413

2P + 1 =2(510510n + 155413) + 1 = 1021020n + 310826 + 1 = 1021020n + 310827

0000010210200 20 2003,5,7,11,13,17000000 10000000

310827 =3 x 11 x 9419 x 1

oooOo
2P + 1 = 33(30940n + 9419)

obooboooo3dbooooboooooboboooboooboobooboboooobOoobOoo
good

Q=1554170000
P = 510510n + 155417

2P 4+ 1 =2(510510n + 155417) + 1 = 1021020n + 310834 + 1 = 1021020n + 310835
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0000010210200 20 2003,5,7,11,13,17000000 10000000

310835 =5 x 7 x 83 x 107 x 1

oooo
2P + 1 = 35(29172n + 8881)

o0ooboooo3boogbobooboooboboooboooboob0ooboboDoooDboOoobOoo
googd

Q=1554230000
P = 5105100 + 155423

2P + 1 = 2(510510n + 155423) 4+ 1 = 10210201 4 310846 + 1 = 10210201 + 310847
0000010210200 20 2003,5,7,11,13,17000000 1000000

310847 =43 x 7229 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 310847

gboboobogobooboboobboobbooobuoonobaon

Q=1554290000
P = 510510n + 155429

2P 4+ 1 =2(510510n + 155429) + 1 = 10210201 + 310858 + 1 = 1021020n + 310859
oo0o000gl10210200 20 2003,5,7,11,13,17000000 1000000
310859 = 19 x 16361 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 310859

oooboobooobooboboobboobboobooobooo

Q=155437 0000
P = 510510n + 155437

2P + 1 =2(510510n + 155437) + 1 = 1021020n + 310874 + 1 = 1021020n + 310875

0000010210200 20 2003,5,7,11,13,17000000 10000000

310875 =3 x5 x5 xbHx829 x1

oooo
2P + 1 = 15(68068n + 20725)
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goog

Q=1554430000
P = 510510n + 155443

2P + 1 = 2(510510n + 155443) 4+ 1 = 10210201 4 310886 + 1 = 10210201 + 310887
0000010210200 20 2003,5,7,11,13,17000000 10000000

310887 =3 x 3 x 34543 x 1

oooo
2P + 1 = 3(340340n + 103629)

g00dob0obO0oo03000b0o00oo0ooboobDooDoO0bO0obO0oDOOobDOobO0oOobOoDbDOoDOn
goo

Q=1554470000
P = 5105100 + 155447

2P 4+ 1 = 2(510510n + 155447) + 1 = 10210200 + 310894 + 1 = 10210201 + 310895
0000010210200 20 2003,5,7,11,13,17000000 10000000

310895 =5 x 13 x 4783 x 1

good
2P +1 = 65(15708n + 4783)

oboobooooboeb0obbO0o0oUboobObOoC0b0oO0bOoO0obOoOobUOobDoOobDbOobODbOoo
good

Q=1554530000
P = 510510n + 155453

2P + 1 = 2(510510n + 155453) 4+ 1 = 10210201 4 310906 + 1 = 10210201 + 310907
0000010210200 20 2003,5,7,11,13,17000000 1000000
310907 = 73 x 4259 x 1
0000 10210200000000000000
2P + 1 = 510510m + 310907

gbooboobooobooboboobboobboooboooboon

Q=1554590000
P = 510510n + 155459

2P 4+ 1 =2(510510n + 155459) + 1 = 1021020n + 310918 + 1 = 1021020n + 310919
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0000010210200 20 2003,5,7,11,13,17000000 10000000

310919 =7 x 44417 x 1

oooo
2P + 1 = 7(145860n + 44417)

OO0o0ooooOovyo0oO0oO0oO0oO0oOOo0OoOo0DOOo0DOO00oDOOo0DOoOODODooDOoODOod
goo

Q=1554610000
P = 5105100 + 155461

2P + 1 = 2(510510n + 155461) 4+ 1 = 10210201 + 310922 + 1 = 10210201 + 310923
0000010210200 20 2003,5,7,11,13,17000000 10000000

310923 =3 x 3 x 179 x 193 x 1

oooo
2P + 1 = 3(340340n + 103641)

gooooooOo3soobooooooobo0oOoU0bOoUbDOoUobDOoUobDbOUDOoUobDbOUDoOO
oono

Q=1554710000
P = 5105100 + 155471

2P + 1 = 2(510510n + 155471) 4+ 1 = 10210201 + 310942 + 1 = 10210201 + 310943
0000010210200 20 2003,5,7,11,13,17000000 1000000

310943 = 139 x 2237 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 310943

goboobooobooboboobboobboobooobooo

Q=1554730000
P = 510510n + 155473

2P + 1 =2(510510n + 155473) + 1 = 10210201 + 310946 + 1 = 1021020n + 310947

0000010210200 20 2003,5,7,11,13,17000000 10000000

310947 =3 x 7 x 13 x 17 x 67 x 1

oooo
2P + 1 = 4641(220n + 67)
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OO000dDbO0O0O0O4641 00000000000 0ODODOOOODOUODOOUOOODODOODOO
googo

Q=155479 0000
P = 510510n + 155479

2P 4+ 1 = 2(510510n + 155479) + 1 = 10210201 + 310958 + 1 = 1021020n + 310959
obooo00o10210200 20 2003,5,7,11,13,17000000 10000000

310959 =3 x 3 x3x 3 x 11 x349 x 1

ooo0o
2P + 1 = 33(30940n + 9423)

0000000033 000000000boo0oo0o0oo0Do0oDbD0o0obOobDoOooDbOooODbOon
good

Q=155483 0000
P = 510510n + 155483

2P + 1 = 2(510510n 4 155483) + 1 = 1021020n + 310966 + 1 = 1021020n + 310967
0000010210200 20 2003,5,7,11,13,17000000 1000000

310967 = 29 x 10723 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 310967

gboobgobogobooboboobboobooobuooooboon

Q=155480 0000
P = 5105100 + 155489

2P + 1 = 2(510510n + 155489) 4+ 1 = 10210201 + 310978 + 1 = 10210201 + 310979
0000010210200 20 2003,5,7,11,13,17000000 1000000
310979 = 101 x 3079 x 1
0000 10210200000000000000
2P + 1 = 510510m + 310979

gbobooboooboobboobboobobooobuoonoboon

Q=155497 0000
P = 510510n + 155497

2P 4+ 1 =2(510510n + 155497) + 1 = 1021020n + 310994 + 1 = 10210201 + 310995
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0000010210200 20 2003,5,7,11,13,17000000 10000000

310995 =3 x 3 x5 x 6911 x1

oooo
2P + 1 = 15(68068n + 20733)

obooboooolibhooobobooooobobooobooboobooboboooobOoobOoo
good

Q=155501 0000
P = 5105100 + 155501

2P + 1 = 2(510510n + 155501) 4 1 = 10210201 + 311002 + 1 = 10210201 + 311003
0000010210200 20 2003,5,7,11,13,17000000 10000000

311003 =7 x 7 x 11 x Bb77 x 1

oooo
2P + 1 = 77(13260n + 4039)

goooooboovywoobooooobOobooooooooooDOobDOoobDOobDOoboooboooo
good

Q=1555030000
P = 510510n + 155503

2P 4+ 1 =2(510510n + 155503) + 1 = 1021020n + 311006 + 1 = 1021020n + 311007
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

311007 = 3 x 103669 x 1

oooo
2P + 1 = 3(340340n + 103669)

ooobobooo3obobooooooboboooOobobUobDobDobooobOoboobooo
goo

Q=1555000000
P = 510510n + 155509

2P 4+ 1 =2(510510n + 155509) + 1 = 1021020n + 311018 + 1 = 1021020n + 311019

0000010210200 20 2003,5,7,11,13,17000000 10000000

311019 =3 x 43 x 2411 x 1

oooo
2P + 1 = 3(340340n + 103673)
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goo

Q=1555130000
P = 510510n + 155513

2P + 1 = 2(510510n + 155513) 4+ 1 = 10210201 4 311026 + 1 = 10210201 + 311027
0000010210200 20 2003,5,7,11,13,17000000 1000000

311027 = 311027 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 311027

gbooboobooobooboboobboobboooboooboon

Q=1555210000
P = 5105100 + 155521

2P 4+ 1 = 2(510510n + 155521) + 1 = 1021020n + 311042 + 1 = 1021020n + 311043

0000010210200 20 2003,5,7,11,13,17000000 10000000

311043 = 3 x 103681 x 1

good
2P + 1 = 3(340340n + 103681)

gooooooOo3oooboooooUobooUooU0boOUDOOoUbOoUbbOUDbDOODbDboUDboOO
goo

Q=155527 0000
P = 510510n + 155527

2P 4+ 1 =2(510510n + 155527) + 1 = 1021020n + 311054 + 1 = 1021020n + 311055

0000010210200 20 2003,5,7,11,13,17000000 10000000

3110556 =3 x 5 x 89 x 233 x 1

oooo
2P + 1 = 15(68068n + 20737)

O0000O0o0oo1booobooobO0oooOoooOoOo0oo0obO0o0obOO0o0obOobDoOooDbOOooODbOoo
good

Q=1555310000
P = 510510n + 155531

2P 4+ 1 =2(510510n + 155531) + 1 = 1021020n + 311062 + 1 = 10210201 + 311063
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0000010210200 20 2003,5,7,11,13,17000000 1000000

311063 = 197 x 1579 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 311063

goboobooobooboboobboobbooboooboon

Q=1555370000
P = 510510n + 155537

2P + 1 = 2(510510n + 155537) 4+ 1 = 10210201 4 311074 + 1 = 10210201 + 311075
0000010210200 20 2003,5,7,11,13,17000000 10000000

311075 =5 x5 x 23 x 541 x 1

oooo
2P + 1 = 5(204204n + 62215)

obooboooosOob0obO0obOUob0Uo0obU0obDOobOUobObU0ObUObDOobDOobObOOobOobDOobDOoo
goo

Q =1555390000
P = 510510n + 155539

2P + 1 = 2(510510n + 155539) 4+ 1 = 10210201 + 311078 4+ 1 = 10210201 + 311079
0000010210200 20 2003,5,7,11,13,17000000 10000000

311079 = 3 x 97 x 1069 x 1

oooo
2P + 1 = 3(340340n + 103693)

oooooooo3sboooooooooboooooOoboobooDboobbOODoOOoDbboOoDboO
goo

Q=1555430000
P = 510510n + 155543

2P + 1 =2(510510n + 155543) + 1 = 1021020n + 311086 + 1 = 1021020n + 311087

0000010210200 20 2003,5,7,11,13,17000000 10000000

311087 =7 x 19 x 2339 x 1

oooo
2P + 1 = 7(145860n + 44441)
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goo

Q=155549 0000
P = 510510n + 155549

2P + 1 = 2(510510n + 155549) 4+ 1 = 10210201 + 311098 + 1 = 10210201 + 311099
0000010210200 20 2003,5,7,11,13,17000000 1000000

311099 = 311099 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 311099

gbooboobooobooboboobboobboooboooboon

Q=1555570000
P = 510510n + 155557

2P 4+ 1 =2(510510n + 155557) + 1 = 1021020n + 311114 + 1 = 1021020n + 311115

0000010210200 20 2003,5,7,11,13,17000000 10000000

311115 =3 x 5 x 7 x 2963 x 1

oooo
2P 4+ 1 =105(9724n + 2963)

gooooOooOoles0foboObOoOo00DOO00bDOoU0UDOOUDbOObDO0O0OOOUODOUODOO
goodg

Q=1555630000
P = 510510n + 155563

2P 4+ 1 =2(510510n + 155563) + 1 = 1021020n + 311126 + 1 = 1021020n + 311127

0000010210200 20 2003,5,7,11,13,17000000 10000000

311127 =3 x 137 x 757 x 1

oooo
2P + 1 = 3(340340n + 103709)

o00b0o0O0030000000000b00DOD0OD0oO0bO0obOO0oDODOobODO0oOOoOoDbOoDbDOoDOn
goo

Q=1555690000
P = 510510n + 155569

2P 4+ 1 =2(510510n + 155569) + 1 = 1021020n + 311138 + 1 = 1021020n + 311139
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0000010210200 20 2003,5,7,11,13,17000000 10000000

311139 =3 x 3 x 181 x 191 x 1

good
2P + 1 = 3(340340n + 103713)

g00obOooOo0o30b0bobooooobobOooOoOobOobobDOoboDobooobOobDOooDOoo
goo

Q=1555790000
P = 510510n + 155579

2P + 1 = 2(510510n + 155579) 4+ 1 = 10210201 + 311158 4+ 1 = 10210201 + 311159
0000010210200 20 2003,5,7,11,13,17000000 1000000

311159 = 379 x 821 x 1

o000 10210200 0000000000000

2P 4+ 1 =510510m + 311159

gboboobogobooboboobboobbooobuoonooboon

Q=1555810000
P = 5105100 + 155581

2P + 1 = 2(510510n + 155581) 4+ 1 = 10210201 + 311162 + 1 = 10210201 + 311163
0000010210200 20 2003,5,7,11,13,17000000 10000000

311163 =3 x 19 x 53 x 103 x 1

oooo
2P + 1 = 3(340340n + 103721)

oooooooo3sooooooooobooooboOobooboobDOoobboODoOobDboOoDboO
goo

Q=155587 0000
P = 510510n + 155587

2P 4+ 1 =2(510510n + 155587) + 1 = 1021020n + 311174 + 1 = 1021020n + 311175

0000010210200 20 2003,5,7,11,13,17000000 10000000

311175 =3 x 3 x3 x5 x5Hx461 x1

oooo
2P + 1 = 15(68068n + 20745)
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Q=1555910000
P = 510510n + 155591

2P + 1 = 2(510510n + 155591) 4 1 = 10210201 + 311182 + 1 = 10210201 + 311183
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Q=1555930000
P = 510510n + 155593

2P 4+ 1 =2(510510n + 155593) + 1 = 1021020n + 311186 + 1 = 1021020n + 311187
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P = 510510n + 155599

2P 4+ 1 =2(510510n + 155599) + 1 = 1021020n + 311198 + 1 = 1021020n + 311199
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Q=155609 0000
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Q=1556110000
P = 510510n + 155611

2P +1 = 2(510510n + 155611) 4+ 1 = 10210201 + 311222 + 1 = 10210201 + 311223
0000010210200 20 2003,5,7,11,13,17000000 10000000

311223 =3 x 11 x 9431 x 1

oooo
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Q=1556210000
P = 510510n + 155621

2P + 1 = 2(510510n + 155621) 4+ 1 = 10210201 + 311242 + 1 = 10210201 + 311243
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311243 = 547 x 569 x 1
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2P +1 =510510m + 311243
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P = 510510n + 155627

2P + 1 =2(510510n + 155627) + 1 = 1021020n + 311254 + 1 = 1021020n + 311255
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Q=1556290000
P = 510510n + 155629

2P 4+ 1 =2(510510n + 155629) + 1 = 1021020n + 311258 + 1 = 1021020n + 311259
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Q=1556330000
P = 510510n + 155633

2P 4+ 1 =2(510510n + 155633) + 1 = 10210201 + 311266 + 1 = 1021020n + 311267
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311267 = 11 x 28297 x 1
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311283 =3 x 3 x3x3x3Ix3xT7Tx61x1

oooo
2P + 1 = 21(48620n + 14823)
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Q=1556510000
P = 510510n + 155651

2P + 1 = 2(510510n + 155651) 4+ 1 = 10210201 + 311302 + 1 = 10210201 + 311303
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311303 = 311303 x 1
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2P +1 = 510510m + 311303
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Q=1556530000
P = 510510n + 155653

2P + 1 = 2(510510n + 155653) 4+ 1 = 10210201 4 311306 + 1 = 10210201 + 311307
0000010210200 20 2003,5,7,11,13,17000000 10000000

311307 = 3 x 103769 x 1
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2P + 1 = 3(340340n + 103769)
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Q=1556570000
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2P 4+ 1 = 2(510510n + 155663) + 1 = 10210201 + 311326 + 1 = 1021020n + 311327
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2P + 1 = 2(510510n + 155671) 4+ 1 = 10210201 + 311342 + 1 = 10210201 + 311343
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P = 510510n + 155681

2P + 1 = 2(510510n + 155681) 4+ 1 = 10210201 + 311362 + 1 = 10210201 + 311363
0000010210200 20 2003,5,7,11,13,17000000 10000000

311363 = 13 x 43 x 557 x 1
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P = 510510n + 155689

2P + 1 = 2(510510n + 155689) + 1 = 10210201 + 311378 + 1 = 10210201 + 311379
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Q=1556930000
P = 510510n + 155693

2P + 1 = 2(510510n + 155693) 4+ 1 = 10210201 4 311386 + 1 = 10210201 + 311387
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311387 = 131 x 2377 x 1
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2P + 1 = 510510m + 311387
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2P 4+ 1 =2(510510n + 155699) + 1 = 1021020n + 311398 + 1 = 1021020n + 311399
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Q=155707 0000
P = 5105100 + 155707

2P + 1 = 2(510510n + 155707) + 1 = 10210201 + 311414 + 1 = 10210200 + 311415
0000010210200 20 2003,5,7,11,13,17000000 10000000

311415 =3 x 5 x 13 x 1597 x 1
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2P + 1 = 195(5236n + 1597)
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P = 5105100 + 155711
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Q=1557130000
P = 510510n + 155713

2P 4+ 1 =2(510510n + 155713) + 1 = 1021020n + 311426 + 1 = 1021020n + 311427
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2P + 1 = 3(340340n + 103809)
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Q=1557170000
P = 510510n + 155717

2P + 1 = 2(510510n + 155717) 4+ 1 = 10210201 + 311434 + 1 = 10210200 + 311435
0000010210200 20 2003,5,7,11,13,17000000 10000000

311435 =5 x 199 x 313 x 1
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Q=1557190000
P = 510510n + 155719

2P 4+ 1 = 2(510510n + 155719) 4+ 1 = 10210201 4 311438 + 1 = 1021020n + 311439
0000010210200 20 2003,5,7,11,13,17000000 10000000

311439 = 3 x 103813 x 1
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Q=1557230000
P = 510510n + 155723

2P + 1 = 2(510510n + 155723) 4+ 1 = 10210201 + 311446 + 1 = 10210200 + 311447
0000010210200 20 2003,5,7,11,13,17000000 1000000
311447 = 311447 x 1
0000 10210200000000000000
2P + 1 = 510510m + 311447
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P =510510n + 155731

2P 4+ 1 =2(510510n + 155731) + 1 = 1021020n + 311462 + 1 = 1021020n + 311463
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Q=1557410000
P = 5105100 + 155741

2P + 1 = 2(510510n + 155741) 4+ 1 = 10210201 + 311482 + 1 = 10210201 + 311483
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2P 4+ 1 =510510m + 311483
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Q=1557470000
P = 5105100 + 155747

2P + 1 = 2(510510n + 155747) + 1 = 10210201 4 311494 + 1 = 10210200 + 311495
0000010210200 20 2003,5,7,11,13,17000000 10000000

311495 =5 x 62299 x 1
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2P + 1 = 5(204204n + 62299)
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Q=1557590000
P = 510510n + 155759

2P + 1 =2(510510n + 155759) + 1 = 1021020n + 311518 + 1 = 1021020n + 311519
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311519 =13 x 31 x 773 x 1

oooo
2P + 1 = 13(78540n + 23963)
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Q=1557610000
P = 510510n + 155761

2P + 1 =2(510510n + 155761) + 1 = 1021020n + 311522 + 1 = 1021020n + 311523

0000010210200 20 2003,5,7,11,13,17000000 10000000

311523 = 3 x 103841 x 1

oooo
2P + 1 = 3(340340n + 103841)
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Q=1557670000
P = 510510n + 155767

2P 4+ 1 =2(510510n + 155767) + 1 = 1021020n + 311534 + 1 = 1021020n + 311535

0000010210200 20 2003,5,7,11,13,17000000 10000000

311535 =3 x3 x5 x7x23x43 x 1

oooo
2P + 1 = 105(9724n + 2967)
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Q=1557730000
P = 510510n + 155773

2P + 1 = 2(510510n + 155773) 4+ 1 = 10210201 + 311546 + 1 = 10210200 + 311547
0000010210200 20 2003,5,7,11,13,17000000 10000000

311547 =3 x 29 x 3581 x 1

good
2P + 1 = 3(340340n + 103849)
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P = 5105100 + 155777
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P = 510510n + 155783

2P + 1 = 2(510510n + 155783) + 1 = 10210201 + 311566 + 1 = 10210201 + 311567
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311567 = 311567 x 1
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2P +1 = 510510m + 311567
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Q=155789 0000
P = 510510n + 155789

2P + 1 = 2(510510n + 155789) 4+ 1 = 10210201 + 311578 4+ 1 = 10210201 + 311579
0000010210200 20 2003,5,7,11,13,17000000 1000000
311579 = 59 x 5281 x 1
0000 10210200000000000000
2P + 1 = 510510m + 311579
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P = 510510n + 155791
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Q=1557970000
P = 510510n + 155797

2P 4+ 1 = 2(510510n + 155797) + 1 = 10210200 + 311594 + 1 = 10210201 + 311595
0000010210200 20 2003,5,7,11,13,17000000 10000000

311595 =3 x 5 x 20773 x 1

oooo
2P + 1 = 15(68068n + 20773)
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Q=1558010000
P = 510510n + 155801

2P + 1 = 2(510510n + 155801) 4 1 = 10210201 + 311602 + 1 = 10210201 + 311603
0000010210200 20 2003,5,7,11,13,17000000 1000000
311603 = 311603 x 1
0000 10210200000000000000
2P + 1 = 510510m + 311603
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Q=1558030000
P = 510510n + 155803
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P = 510510n + 155807

2P + 1 = 2(510510n + 155807) 4+ 1 = 10210201 4 311614 + 1 = 10210200 + 311615
0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=1558090000
P = 510510n + 155809

2P + 1 = 2(510510n + 155809) + 1 = 10210201 + 311618 + 1 = 10210201 + 311619
0000010210200 20 2003,5,7,11,13,17000000 10000000

311619 =3 x 7T x 11 x 19 x 71 x 1

oooo
2P + 1 = 231(4420n + 1349)
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Q=1558190000
P = 510510n + 155819

2P + 1 = 2(510510n + 155819) 4+ 1 = 10210201 + 311638 + 1 = 10210201 + 311639
0000010210200 20 2003,5,7,11,13,17000000 1000000
311639 = 179 x 1741 x 1
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2P + 1 = 510510m + 311639
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Q=1558210000
P = 510510n + 155821
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Q=1558330000
P = 510510n + 155833

2P 4+ 1 = 2(510510n + 155833) + 1 = 10210200 + 311666 + 1 = 1021020n + 311667
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Q=1558430000
P = 5105100 + 155843

2P + 1 = 2(510510n + 155843) + 1 = 10210201 4 311686 + 1 = 10210201 + 311687
0000010210200 20 2003,5,7,11,13,17000000 1000000
311687 = 311687 x 1
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2P + 1 = 510510m + 311687
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Q=1558610000
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Q=1558630000
P = 510510n + 155863

2P 4+ 1 =2(510510n + 155863) + 1 = 10210201 + 311726 + 1 = 1021020n + 311727
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2P + 1 = 2(510510n + 155879) 4+ 1 = 10210201 + 311758 4+ 1 = 10210201 + 311759
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P = 5105101 + 155887
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Q=1558930000
P = 510510n + 155893

2P + 1 =2(510510n + 155893) + 1 = 1021020n + 311786 + 1 = 1021020n + 311787
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P = 510510n + 155899
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oooooooo2r300oboooo0oo0ooDooooooooobbo0ooo0ooDooDoO
good

Q=1582090000
P = 510510n + 158209

2P + 1 =2(510510n + 158209) + 1 = 1021020n + 316418 + 1 = 1021020n + 316419

0000010210200 20 2003,5,7,11,13,17000000 10000000

316419 = 3 x 29 x 3637 x 1

oooo
2P + 1 = 3(340340n + 105473)
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